An example: (X, G) of type (G, As)

X as the fixed points subgroup of a graph automorphism of G

———eo—<+——»
ay az as L7 as B1 P2 B3

ailry =aslty =P1 a2lry = sl =P2  aslty, =P3



An example: (X, G) of type (G, As)

X as the fixed points subgroup of a graph automorphism of G

———eo—<+——»
ay az as L7 as B1 P2 B3

ailry =aslty =P1 a2lry = sl =P2  aslty, =P3

Let {A;} denote the fundamental weights in X(T¢g)*.

A=(p-1)A3eX(Tg)" = Lc(A)Ix = Lx(M7y)/Lx(AlTy = B2 = B3)/--.7



An example: (X, G) of type (G, As)

X as the fixed points subgroup of a graph automorphism of G

———eo—<+——»
ay az as L7 as B1 P2 B3

ailry =aslty =P1 a2lry = sl =P2  aslty, =P3

Let {A;} denote the fundamental weights in X(T¢g)*.
A=(p-1)A3eX(Tg)" = Lc(A)Ix = Lx(M7y)/Lx(AlTy = B2 = B3)/--.7

Ls(A)lx is self-dual. If 3 third composition factor then 3 maximal vector for
% (Bx) of weight 0 X(Tx)" and 0 # M1y Al Ty — B2 — Bs3.



An example: (X, G) of type (G, As)

X as the fixed points subgroup of a graph automorphism of G

———eo—<+——»
ay az as L7 as B1 P2 B3

ailry =aslty =P1 a2lry = sl =P2  aslty, =P3
Let {A;} denote the fundamental weights in X(T¢g)*.
A=(p-1)A3€X(T6)" = La(M)Ix = Lx(M1y)/Lx(Al 7y — B2 = B3)/--.?
Ls(A)lx is self-dual. If 3 third composition factor then 3 maximal vector for

f(Bx) of weight 6 € X( Tx)+ and 6 # MTX’MTX — B2 — B3.
By the proposition, if

mie)x(MUTy —al7y) = mLx(AITX)GBLX(MTX—ﬁz—ﬁs)(MTX —al7y)
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Let {A;} denote the fundamental weights in X(T¢g)*.

A=(p-1)A3eX(Tg)" = Lc(A)Ix = Lx(M7y)/Lx(AlTy = B2 = B3)/--.7

Ls(A)lx is self-dual. If 3 third composition factor then 3 maximal vector for
% (Bx) of weight 0 X(Tx)" and 0 # M1y Al Ty — B2 — Bs3.
By the proposition, if

mie)x(MUTy —al7y) = mLx(AITX)GBLX(MTX—ﬁz—ﬁs)(MTX —al7y)

Mo (a)ix (M Tx =@l Ty =B2=F3) = ML (A7, Yo Lx(Ary ~pa—p3) (M Tx = @l Ty = 2= B3)

for ae R(G)" \{ag} = Lc(A)Ix= LX(/HTX)/LX(MTX - B2-B3).
Same arguments works for (X, G) of type (Cp, A2n-1).



Comparing irreducible and two composition factors p =13

Irreducible action
(Testerman '88)
(X,G)=(Fa, Es)

R

p-2 1

R

p-3




Comparing irreducible and two composition factors p =13

Two composition factors action

Irreducible action = (Fa,Es)

(Testerman '88)
(X, G) = (Fa, Es)

(X, G) =(Ba, Fa)
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